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1.

. Norton equivalent circuit consists of

PART-A-Answer all-Each qumtxon carries one mark {10 x 1=10)

In ————circuits, the voltage current relatior is same for current flowing in either
direction.

Average value of sine wave overafuﬂcyclexsequalto———-——- '

if capacitance C=0.001uF and voltage applied is V=1kV, charge stored is equal to—.,
In a circuit of source voltage IOVandsomceunpedanceon.Sthhasomcemstance
of 1.5Q, the maximum power transferred to the load is
Threeequalmstanc&sofSQareconnectedmdclta.R.cmstansemoneoftheannof
equivalent star circuit is

in paralle] with equivalent meedm.
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InaBQ) systamthevoltampereraunglsngenby
An ideal filter has attennanonmthepasshand

0. In an m derived high pass filter, monmxﬁequmcylstcbechosensoﬂ:atxtmmthe

cut off frequency. . .
PART-B- Write short notes on any FIVE qdesﬁons (5 x 2=10)

If four resistors 10Q, 20Q, 30 and 4kQ are paralle] connected across a 100V supply.
Fmdeqmvalenimstameandcxm'emmm(lreszstor

. 2 Find current in the 10Q resistor, Vlandscmcevohageforthecircuitshowninl“igi
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3 Determine Norton equivalent for the circuit shown in Fig.2

-

sgv Wy —
e Q.
| Fig.



4

e
4 4 Verify reciprocity theorem for the circuit shown in F1g.%
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Rspmentthefonomglmpdancesmtectangulmfonnandpolarform. 1) A pure
g mstanceofloQZ)ApmemductanccoflOmHJ)ApmemacrtanceofSuF Assume
) frequency=5CHz.
¢ Explain advantages of polyphasesystem_
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PART-C- Write short notes on 'any FIVE questions (5 x 4=20)

1. Wnte mesh equation for the network shown in Fig.H and Find source current.
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4, Wntemdevolmgeethanonsanddetemmecmmmmh
shown in Figg ‘ branch for the network
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5. A 3¢ delta connected load consumes a power of 100kW taking a laggmg current of 200
A at a line voltage of 400V, 50Hz. Calculate 1) Parameters of each phase, 2)Power factor
3)Active power 4) Reactive power and 5) Apparent power.

6. Determine form factor and peak factor of following periodic waveform in Fig.7.
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7. In the circuit shown in Fig. 8, an inductive reactance of 0.1H having 2 Q of 5 is in
parallel with a capacitor. Determine the value of capacitance and coil resistance at
resonant frequency of 500 rad/sec. :
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PART-C- Write an essay on any ONE ' (1 x 10=10)

1. Determine the currents in bridge circuit shown in Fig.9 by using mesh analysis.

2. Explain series and parallel resonance.



